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L The plane x +2y +32 =12 cuts the axes of coordinates in A, B, C. Find the
equations of the circle circumscribing the triangle ABC. 10

at the plane z=0 cuts the enveloping cone of the sphere
x?+y? +2? =11 which has the vertex at (2,4, 1) in a rectangular
yperbola.
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The force of attraction of a particle ; ks :
sguare of its distance from the earth’s centre. A ';amc earth from a height 3h
surface of the earth is W, falls to the gurface © the earth’s attraction force
above it. Show that the magnitude of work done by "

is2 hW, where h is the radius of the earth.
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/ A body consists of a cone and underlying hemisphere. The base of the cone and
the top of the hemisphere have same radius a. The whole body rests on a
horizontal table with hemisphere in contact with the table. Show that
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test height of the cone, so that the equilibrium may be stable, is 43 a.
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" Find the circulation of F round the curve C, where F
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(0, 0).
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Obtain the singular solution of the differential equation
dy}”(yf 202 0)(¥) (%) conec?

— | [=] cotta-2—=|=Z =t =

(dt = (dx}(x]-'-[ ) cosec ' =1

Also I'ian I;hf: complete primitive of the given differential equation. Give the

gcometrical interpretations of the complete primitive and singular solution.
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